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v=1 v=1/3
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c' /D 16 9
—b/a=C'/A'=-B' D1 6.261 4.404
B' /4’ 2.4495 2.1547
us Siuy 1.5654 1.4678
a 63.302 29.963
V] 35. 927 18.794
a—g 27.375 11.169
(a-g) (421)z 2.3373 1.8293
(a—ﬂ)(gi)' .3576 .4379

(a-p)Bx 4 x2
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2.8608(73%)
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(K/k)*™2 0.2500
N Theta (1-idgsinz)® (1-iBsinz ) (Cp sinx)? { Dg sinz)?
1 0.00 0.00000 0.00000 0.00000 0.00000
2 300 0.02724 0.12888 0.00915 0.04276
3 6.00 0.08919 0.48529 0.03061 0.15880
4 9.00 0.16295 0.99348 0.05796 0.31741
5 12.00 0.23381 1.56465 0.08739 0.48276
6 15. 00 0.29345 2.12462 0.11675 0.62513
7 18.00 0.33795 2.62535 0.14485 0.72563
8 21.00 0.36622 3.04332 0.17103 0.77560
9 24.00 0.37894 3.37264 0.19483 0.77382
10 27.00 0.37774 3.61798 0.21589 0.72372
11 30.00 0.36482 3.78947 0.23386 0.63158
12 33.00 0.34255 3.89074 0.24837 0.50579
13 36.00 0.31337 3.96228 0.25908 0.35728
14 39.00 0.27958 3.99088 0.26566 0.20175
15 42.00 0.24331 3.99928 0.26783 0.06544
16 45.00 0.20645 4.00000 0.26544 0.00000
17 48.00 0.17060 3.99864 0.25845 0.12337
18 51.00 0.13702 3.96652 0.24697 0.74110
19 54.00 0.10669 3.71611 0.23131 2.68901
20 57.00 0.08024 2.51146 0.21193 7.50921
21 60.00 0.05800 0.00000 0.18947 12.00000
22 63.00 0.04003 0.37988 0.16473 3. 62690
23 66.00 0.02613 0.31796 0.13864 2.54395
24 69.00 0.01593 0.21607 0.11220 1.91067
25 72.00 0.00889 0.12830 0.08648 1.42288
26 75.00 0.00441 0.06619 0.06254 1.01236
27 78.00 0.00185 0.02848 0.04137 0.66475
28 81.00 0.00060 0.00934 0.02387 0.38248
29 34.00 0.00012 0.00189 0.01081 0.17295
30 87.00 0.00001 0.00012 0.00273 0.04371
31 90.00 0.00000 0.00000 0.00000 0.00000
Qg 0.76498
Qe 1.02148
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(K/k)*+2 0.3333

N Theta (1-idgsinx) (1-iBgsinx) (€t sinx) (Dg sinaz)
1 0.00 0.00000 0.00000 0.00000 0.00000
2 3.00 0.20457 0.11492 0.02589 0.04292
3 6.00 0.51737 0.43655 0.06790 0.16100
4 9.00 0.77844 0.90519 0.10842 0.32673
5 12.00 0.96324 1.44690 0.14540 0.50610
6 15.00 1.07836 1.99467 0.17976 0.66844
7 18.00 1.13605 2.50000 0.21255 0.79180
8 21.00 1.14797 2.93465 (0.24439 0.86370
9 24.00 1.12398 3.28694 0.27540 0.87954

10 27.00 1.07234 3. 55652 0.30527 0.84015

11 30.00 1. 00000 3. 75000 0.33333 0.75000

12 33.00 0.91298 3. 87785 0.35868 0.61621

13 36.00 0.81654 3.95261 0.38023 0.44888

14 39.00 0.71534 3. 98809 0.39689 0.26369

15 42.00 0.61342 3.99900 0.40759 0.09035

16 45,00 0.51429 4.00000 0.41143 0.00000

17 48.00 0.42083 3.90764 0.40777 0.21318

18 51.00 0.33532 3.92288 0.39627 1.70693

19 54.00 0.25939 2.50000 0.37699 14.20820

20 57.00 0.19404 1.14658 0.35041 4.35579

21 60.00 0.13965 1.00000 0.31738 3.00000

22 63.00 0.09603 0.74406 0.27918 2.45084

23 66.00 0.06250 0.50748 0.23740 2.04505

24 69.00 0.03801 0.31849 0.19387 1.67098

25 72.00 0.02117 0.18151 0.15058 1.30770

26 75.00 0.01049 0.09141 0.10959 0.96067

27 78.00 0.00439 0.03874 0.07288 0.64453

28 81.00 0.00141 0.01258 0.04223 0.37626

29 84.00 0.00028 0.00253 0.01917 0.17175

30 87.00 0.00002 0.00016 0.00485 0.04363

31 90.00 0.00000 0.00000 (¢.00000 0.00000

Qr  0.90972
Q: 1.03366
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